MTH 1210, FALL 2013
DR. GRAHAM-SQUIRE

SECTION 7.1: IN CLASS ACTIVITY

1. NAMES

2. INSTRUCTIONS

Read the problem given below, then work on it with the other members of your group. You should
give a complete answer with all of your work shown for each question. It is fine for different people
to work on different parts of the question, but you should check each other’s work since everyone in
the group will receive the same grade for the assignment. If you have any questions, ask the other
members of your group first. If all of you are stuck, everyone in the group must raise their hand in

order to get help from the professor. Attach this as a cover sheet to the work you turn in.

Exercise 1. Verify that the equation

cosx sinz

=1
secr  cSCx
is an identity.
Exercise 2. Verify that the equation
cost
———— =secH + tan0
1—siné

is an identity. Hint: Either start with the left-hand side and multiply top and bottom by something

clever, or start with the right-hand side and write everything in terms of sine and cosine.



